AH & Cowuersion ‘ﬁt’bf /
o— heo

P;MJ P-

MOGA e

en' .
ZCZIA‘ (3' +7 O)_ (Sl — '+(0,_(3\ + 6H,0(1) 3 A
= | = -5700%

ANL 14 s ’ij o GH, react ?

AH:~570'0 r%, - Pl mole of RKU

- 5700 KJ=2_Mol CZHQ

CoHe exodbain e

2+C = 2* "22{ 20 ksf{ baef
- b N

o s Rewnsed

|Sntay Cn, [Imich,
MoLAR MAss  4H

| ’PHJ\‘C{'(va AH of de'(o.o Nm.’

wvokes P e of stondard ewMJ‘Pm of

ﬁlnal\‘v\ . oé\'STD

AH{- ‘.\ L fades  anrt ounr

Lﬁi’fo‘-@.:‘é‘l\ a Svd. P’Q&Sﬂd 6( (O;‘An,\
-l solts an of o
shl. covc. of (M

-oll solids + !.'V,’,Q
ore Pw-g .

A\'\; °F a S\ALS‘}anu I's Q?}MJ {

for
/\H 6, My restltn  wlan o b
| el of SuLS']‘um ﬁrM i ebm/; "
Huair mest shb ﬁlms :




- AHZ(C‘)H‘(QB = +410% "_-’l.

éCfsjnp“)'*' _5“ @ — CH, ) JAH: +us09

m\

A ”o'lm,:e;

Cocbon ovsh n Mmo ﬁh_mf

@(S, 8«4‘)“«(3)/ ; C(S,o(l’annd)

C(S,L“Ckmiv\s‘t{,ﬁ”we«d ; C(S,Bucblvtu)

O‘f&a&w wsh i Swea) frms ...
Oz (4 O g)
"O%d@u“ (o) 50'\.';
o‘foxd%m

r

ex: A(—(: ( CH_,OH(Q\> = -238~7§

Yy + 2 Hy — CHOH 58H-

C( hebe
llf
g -2387‘9

2 (4)

X2
OP we &mbﬁo‘ up 'l"‘" .. \2
2 3«PL\‘.) + UHyy + Cutg) — ZCH30HMI

AH = -u17 “ &

bble o back o{ Che
b £F hedek { sbehs
'\'Luf AH,I Uc‘ws .
WHY 2 We com uw faen L Pm{c‘c/
Af fr ANY chumid e




Copyright © The McGraw-Hill Companies, Inc. Permission required for reproduction or display

Table 6.4 Standard Enthalpies of Formation of Some Inorganic
Substances at 25°C

Substance ? (kJ/mol) Substance ¢ (kJ/mol)
Ag(s) 0 H,0,(/) —187.6
AgClI(s) —127.04 Hg(l) 0
Al(s) 0 I,(s) 0
AL Os(s) —1669.8 HI(g) 25.94
Bry(/) 0 Mg(s) 0
HBr(g) —36.2 MgO(s) —-601.8
C(graphite) 0 MgCOs(s) =1112:9
C(diamond) 1.90 Na(g) 0
CO(g) —110.5 NHs(g) —46.3
COy(g) —393.5 NO(g) 90.4
Ca(s) 0 NOx(g) 33.85
CaO(s) —635.6 N,04(g) 9.66
CaCO;(s) —1206.9 N,O(g) 81.56
Ch(g) 0 0(g) 249.4
HCl(g) —-92.3 0,(g) 0
Cu(s) 0 0Os(g) 142.2
CuO(s) —1552 S(rhombic) 0
Fs(g2) 0 S(monoclinic) 0.30
HF(g) —268.61 SOx(g) —296.1
H(g) 218.2 SOs(g) —3952
Hy(2) 0 H,S(g) —20.15
H,0(g) —241.8 ZnO(s) —347.98
H,O(/) —285.8 ZnS(s) —202.9

FIn thermodynamics, the standard pressure is defined as 1 bar, where 1 bar = 10° Pa = 0.987 atm. Because
1 bar differs from 1 atm by only 1.3 percent, we will continue to use | atm as the standard pressure. Note that
the normal melting point and boiling point of a substance are defined in terms of 1 atm.
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